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1.4 Earth, Moon, Sun

Earth, Moon, Sun Interactions

Mr Fantom Ryburn Valley High School



a) Demonstrate an understanding that the Moon and Sun appear to be the same size when viewed from Earh
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The diameter of the Moon: £4%S km The diameter of the Sun: km. Ratio of diameters:_{ : “4<i
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The distance to the Moon: 384, 400 km  The distance to the Sun: Feasoo km. Ratio of distances:_' - 3¢9

Explain why this important for a total solar eclipse to occur:
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b) Recall the period of the lunar phase cycle The period of the lunar phase cycle is_24 .57 days.
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c) Demonstrate an understanding of lunar phases and deduce the lunar phase cycle from given data

Draw the following lunar phases and calculate the exact number of days into the cycle when they occur:

Waning Gibbous Full Moon Waning Gibbous

Explain what causes the phases of the Moon: / B e cie i N\
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6 Use diagrams to explain why the lunar phase cycle is (2.2 days) longer than the orbit period of the Moorx

;/ Explain how this diagram shows why the lunar
phase cycle is 2.2 days longer than the orbit
period of the Moon:
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e) Describe the appearance of partial and total solar and lunar eclipses \

/ How a partial solar ecli ars to an observer \ How a total solar eclipse \ / How a lunar to an observer
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GDescribe, using diagrams, the mechanisms causing solar and lunar eclipses \
/ ... Howa solar eclipse is caused \ / How a lunar eclipse is caused \
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6 Demonstrate an understanding that the duration of total solar and lunar eclipses are different and that \
they do not occur every new and full Moon
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h) Describe the terms ‘solar day’ and ‘sidereal day’
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i) Interpret simple shadow stick data to determine local noon and observer’s longitude \
Draw a cross on the x-axis of the graph to depict local noon.

Local noon was measured to occur at 12:18. On the same day, local noon was
measured in Greenwich at 12:06. Calculate the longitude of the observer:_____
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length of shadow
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6 Describe how a sundial can be used to determine time \
Describe how to make a sundial, how to read time from the sundial: A~ apnald Shck A fe 5,‘““%
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Describe the corrections you have to make to your reading to convert it to GMT and explain why these
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i) Explain why a solar day is longer than a sidereal day
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June

1) Interpret charts and diagrams showing the variation in daylight length 0
= during a year December
O

Describe the relationship between the
time of year and day length, and the
effect latitude has on this:_.4+ h<
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March Equinox

_ . .Decembar Solstice_

Hours or
Day Length

June Sofstice
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Explain how these variations are caused:_ 7w £eoiv s hitkest 02 it cmis, omol A'5 cnevdnbon by (e

S Champen flulod fle geor o9 it orbiby, Aol o civen poink ua R S fee sone b2y e oucir pois

e Oa Scn ok Soch<S aow . L a S ek vole (oh—v Uon tle J’W\w), ay e seeguns Pegyy  fre

hocrs ,J’ sw/pl-abél—d very & corAler = AP ey = stoct :A«n; ; Seemene = B hiaerdy = /w»a .{pa;.

ﬁ) Demonstrate an understanding that there are seasonal variations in the rising and setting of the Sun \
Explain why the Sun sets earlier and rises later in winter than summer:__ /1 wiaiv, for @ o ven poiuk [lodibcl,
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n) Demonstrate an understanding of the terms ‘apparent Sun’ and ‘mean Sun’
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/) Demonstrate an understanding of the term ‘equation of time’ and perform simple . \
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/p) Describe aurorae and recall from where on Earth they are most likely to be observed \

Southernmost point where the Aurora Borealls has ever been observed: fro chengd Maeo froa te sle ot

Northernmost point where the Aurora Australis has ever been observed:
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q) explain how aurorae are caused.
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